
PAS V3
Pumping Unit

Component
Technical Manual

Document Ref 903647-001
Rev - 3
08/2008



Document Ref 903647-001 Rev 3

PAS V3 Pump for Fuel Dispensers Component Technical Manual

Great care has been taken in the preparation of this manual however Tokheim
shall not be liable for any misunderstanding, errors and/or loss or defect
arising from the use of this manual.

Tokheim shall not be liable for damage to the product, nor for personal or
third party injury, caused by incorrect use of the product or by attempts to
maintain or to repair the product by parties other than those fully trained by
Tokheim or by its accredited third party representatives.

Please contact your nearest service department, at the relevant address
printed on the back cover of this manual, should any aspect of this manual
be unclear.

© Copyright by Tokheim. All intellectual rights arising from, accruing
to,and residing in this manual belong to Tokheim. No part of this
document may be reproduced in any form without the express written
permission of Tokheim.

Tokheim reserves the right to apply changes to this document and the
equipment without further notice.

Issue B



Document Ref 903647-001 Rev 3 1

Component Technical Manual PAS V3 Pump for Fuel Dispensers

Date Revision Page Issue Reason
01/03/2002 1 All A Original Issue
13/04/2006 2 All B Copyright and disclaimer notice added; 

contents updated; pages renumbered; 
drawings redrawn; new pages inserted; revised 
addresses

3 2-2 C New tech info added (min inlet vacuum)
28/08/2008 2-5 Above ground tank applications added

 

REVISION RECORD



2 Document Ref 903647-001 Rev 3

PAS V3 Pump for Fuel Dispensers Component Technical Manual

This page is intentionally blank

Issue B



Document Ref 903647-001 Rev 3  3

Component Technical Manual PAS V3 Pump for Fuel Dispensers
Is

su
e 

B

CONTENTS

1 GENERAL ..................................................................................................................... 1-2
1.1 Definitions ............................................................................................................1-2
1.2 Configurations ......................................................................................................1-2

2 OPERATING DESCRIPTION ................................................................................... 2-2
2.1 Technical Characteristics .....................................................................................2-2
2.2 Alignment of the Pump ........................................................................................2-3
2.3 Schematic Diagram of Operating Principles ........................................................2-4
2.4 Schematic Diagram References ..........................................................................2-4
2.5 Operating Description ..........................................................................................2-5

2.5.1 Pumping, Filtration & By-Pass ............................................................2-5
2.5.2 Above Ground Tank Applications ........................................................2-5
2.5.3 Air Separation ......................................................................................2-6
2.5.4 Outlet Valve .........................................................................................2-6
2.5.5 Recovery Chamber ..............................................................................2-6
2.5.6 Vent to Atmosphere .............................................................................2-7
2.5.7 Draining of the PAS.............................................................................2-7
2.5.8 V-belt Transmission .............................................................................2-7
2.5.9 Motors..................................................................................................2-8

3 FAILURE DIAGNOSIS............................................................................................... 3-2
3.1 Failure Diagnosis ..................................................................................................3-2
3.2 Flow Charts ..........................................................................................................3-3

3.2.1 No Fuel Flow ....................................................................................... 3-3
3.2.2 Reduced Fuel Flow ..............................................................................3-4
3.2.3 Uneven Fuel Flow................................................................................3-5
3.2.4 Closing of the Overflow Valve ............................................................3-6
3.2.5 Excessive Noise...................................................................................3-7

4 TROUBLESHOOTING .............................................................................................. 4-2
4.1 Outlet Pressure ....................................................................................................4-2
4.2 Inlet Pressure .......................................................................................................4-2
4.3 Air Vent ................................................................................................................4-3
4.4 Internal Air Entry in the Pump .............................................................................4-3
4.5 External Problems up-stream the PAS ................................................................4-4
4.6 Excessive Head Loss ...........................................................................................4-4
4.7 Air Entry on the Pipework to the Storage Tank ................................................... 4-5

5 SPARE PARTS AND MAINTENANCE TOOLS .................................................... 5-3
5.1 Frequently Used Spare Parts ...............................................................................5-3
5.2 Exploded Views and Parts Lists ..........................................................................5-4

5.2.1 Front View ...........................................................................................5-4
5.2.2 Back View ...........................................................................................5-6
5.2.3 Top View ........................................................................................... 5-10

5.3 Maintenance Kits ............................................................................................... 5-12
5.4 References of Specific Tools ............................................................................. 5-15

6 PROBLEM REPORT FORM FOR THE PAS V3 PUMP .................................... 6-2



4 Document Ref 903647-001 Rev 3

PAS V3 Pump for Fuel Dispensers Component Technical Manual
Issue B

This page is intentionally blank



Document Ref 903647-001 Rev 3 Page 1-1

Component Technical Manual PAS V3 Pump for Fuel Dispensers

CONTENTS

1 GENERAL ..................................................................................................................... 1-2
1.1 Definitions ............................................................................................................1-2
1.2 Configurations ...................................................................................................... 1-2

Is
su

e 
B



Page 1-2 Document Ref 903647-001 Rev 3

PAS V3 Pump for Fuel Dispensers Component Technical Manual

1 GENERAL

1.1 Definitions
¤ PAS V3: Commercial name of the PAS version 3

There is one hydraulic block for both 80 l/min and 130 l/min flow

¤ PAS V3 80: Name used when the delivery is 80 l/min (4.8 m3/h)

The PAS is equipped with a 1kW 1400rpm motor

¤ PAS V3 130: Name used when the delivery is 130 l/min (7.8 m3/h)

The PAS is equipped with a 1.5kW 2800rpm motor

¤ Type plate:

IMPORTANT NOTE

When reporting a case of anomaly or malfunction, the name PAS V3 has to be mentioned
together with the serial number indicated on the type plate near the pump pulley (see
picture above).  It is also possible to fill in a problem report (see Section 6) to report
malfunction or anomalies.

1.2 Configurations

Standard configurations of the PAS V3 80 l/min

Gas Separator        PAS V3
for liquid fuel.                 Year:

Qmax  130 L/min       Diesel          Pmax  3,5 bar    Pmin  2,3 bar
Qmax   80 L/min  Gasoline/Diesel  Pmax  3,5 bar    Pmin  1,7 bar

Serial number:
OIML R117/1995-NL-01.04

Issue B

PAS V3 80

2.4 m3/h
40 l/min

2.4 m3/h
40 l/min

PAS V3 80

4.8m3/h
80 l/min

h



Document Ref 903647-001 Rev 3 Page 1-3

Component Technical Manual PAS V3 Pump for Fuel Dispensers

Standard configurations of the PAS V3 130 l/min

Is
su

e 
B

PAS V3 80

2.4 or 4.8m3/h
40 or 80 l/min

PAS V3 80 PAS V3 80

9.6m3/h
1680 l/min

PAS V3 130

2.4 or 4.8m3/h
40 or 80 l/min

4.8m3/h
80 l/min

or
2.4m3hr
40 l/min

h

PAS V3 130

7.8m3/h
130 l/min



Page 1-4 Document Ref 903647-001 Rev 3

PAS V3 Pump for Fuel Dispensers Component Technical Manual

This page is intentionally blank

Issue B



Document Ref 903647-001 Rev 3 Page 2-1

Component Technical Manual PAS V3 Pump for Fuel Dispensers
Is

su
e 

B

CONTENTS

2 OPERATING DESCRIPTION ................................................................................... 2-2
2.1 Technical Characteristics .....................................................................................2-2
2.2 Alignment of the Pump ........................................................................................2-3
2.3 Schematic Diagram of Operating Principles ........................................................2-4
2.4 Schematic Diagram References ..........................................................................2-4
2.5 Operating Description .......................................................................................... 2-5

2.5.1 Pumping, Filtration & By-Pass ............................................................2-5
2.5.2 Above Ground Tank Applications ........................................................2-5
2.5.3 Air Separation ......................................................................................2-5
2.5.4 Outlet Valve .........................................................................................2-6
2.5.5 Recovery Chamber .............................................................................. 2-6
2.5.6 Vent to Atmosphere .............................................................................2-6
2.5.7 Draining of the PAS.............................................................................2-6
2.5.8 V-belt Transmission .............................................................................2-7
2.5.9 Motors ..................................................................................................2-7



Page 2-2 Document Ref 903647-001 Rev 3

PAS V3 Pump for Fuel Dispensers Component Technical Manual

PAS type Motor power Ø of motor pulley Ø of pump pulley

PAS 80 1 kW / 1400rpm 95 mm 150 mm

PAS 130 1.5 kW / 2800rpm 71 mm 150 mm

HYDRAULIC PERFORMANCES

The hydraulic performances mentioned below are for a standard installation (one pump on
piping to the tank).  The pump has a static lift of 4m, a pipe diameter of 2 inches and a
length of 40m.  The fuel temperature is 20°C.

Flow rate: 40 and 80 l/min (motor of 1 kW) or
130 l/min (motor of 1.5 kW)

Pressure: 1.7 ≤  P ≤  3.5 bar for PAS V3 80 l/min
2.3 ≤  P ≤  3.5 bar for PAS V3 130 l/min

Suction capacity: vacuum pressure dry pump is 400 mbar,
vacuum pressure wet pump (with oil) is 900 mbar

Pump intake depth 0.5 to 4.5 meters

Air separator fulfils the EEC regularisation for systems without sight glass

Filters 12 or 25 μm paper mesh and 90 μm plastic mesh (can be cleaned
and re-used).  The filter can easily be replaced without spillage,
and without losing the priming on the suction line due to the foot
valve in the bottom of the filter box.

Liquids fuels with a viscosity lower than 10-4 m2/s

Minimum inlet vacuum 100mB @ 80 l/min
for correct operation 150mB @ 130 l/min

2 OPERATING DESCRIPTION

2.1 Technical Characteristics

DIMENSIONS

Width x height x length 225 x 450 x 490 mm including motor, filter and mounting
bracket

Weight 37 kg

Suction pipe Ø 1.5 or 2 inches (40 l/min)
Ø  2 inch (80 and 130 l/min)

Inlet of the filter housing DN Ø 40/49 mm (1.5”)

Issue C



Document Ref 903647-001 Rev 3 Page 2-3

Component Technical Manual PAS V3 Pump for Fuel Dispensers

If a tensioning roller (optional) is used, the v-belt should run in the middle of this roller.  This
has to be checked during running of the pump.

ENVIRONMENTAL CONDITIONS

Climate Marine, tropical, industrial and polar

Ambient temperature range -40 °C to +55 °C

Temperature of liquid -25°C to +25°C

Relative humidity 5% to 95% non condensing

Altitude Sea level up to 2000 m

2.2 Alignment of the Pump
When installing the PAS V3 the following measures have to be taken concerning the V-
belt.

Adjust the pulleys of the motor and pump in such a way that they are positioned in one
plane.  A flat plate can be used to position the pulleys correctly.  In this case the plate has
to touch the pulleys at 4 points (see picture).

Is
su

e 
B



Page 2-4 Document Ref 903647-001 Rev 3

PAS V3 Pump for Fuel Dispensers Component Technical Manual

2.3 Schematic Diagram of Operating Principles

2.4 Schematic Diagram References
1)  Inlet pipe

2)  Foot valve

3)  Filter

4)  Gear pump

5)  Drain

6)  Float system

7)  Vent float (non overflow device)

8)  Vent

9)  Top vent plug

10)  Recovery chamber

11)  Permanent air separation leak

12)  Vortex regulating valve

13)  Low pressure air separation leak

14)  Low pressure vortex valve

15)  Outlet valve reference to atmosphere

16)  By-pass

17)  Vortex centrifugal inlet

Issue B



Document Ref 903647-001 Rev 3 Page 2-5

Component Technical Manual PAS V3 Pump for Fuel Dispensers

18)  Air separation channel

19)  High-pressure chamber

20)  Drain and pressure plug

21)  Outlet valve seat

22)  Outlet valve

23)  Outlet valve spring

24)  Aeration valve

2.5 Operating Description

2.5.1 PUMPING, FILTRATION & BY-PASS

The fuel held in the tank underground is raised by the gear pump [4] and passes
through the filter [3] and the foot valve [2].

The gear pump forces the product through the vortex system [17] into the high-
pressure chamber [19].

When the flow pressure exceeds the reference pressure, adjusted by the by-
pass screw, the by-pass valve [16] opens and the excess fuel in the high-pressure
chamber [19] is channelled back to the intake. Thus, the outlet pressure is kept
constant regardless of the flow drawn off by the fuel distribution hose(s).

2.5.2 ABOVE GROUND TANK APPLICATIONS

The PAS V3  pump has been specifically designed to work in conjuction with
underground tanks where the fuel level inside varies between 0.5 and 4 meters
below the pump shaft.

If the fuel in the tank can rise above this level, then we do not recommend you
use the PAS V3 pump.

Should there be no other option available, then the following precautions must be
taken:

1) Install a special “Tokheim 52 Valve” between the tank and the inlet of the
pump.

For VHS applications, you are required to use 2 of these valves in parallel.

2) Install a 1 in. solenoid valve between the tank and the inlet of the Tokheim 52
Valve.

For VHS applications, you are required to use 2 of these valves in parallel

The valve(s) should only be opened when the pump is running.

Note: This installation must be done in accordance with all local safety
legislation.

Is
su

e 
C



Page 2-6 Document Ref 903647-001 Rev 3

PAS V3 Pump for Fuel Dispensers Component Technical Manual

2.5.3 AIR SEPARATION

The flow is channelled tangentially into the vortex where the shape of the inlet
[17] imparts a helical movement to the flow producing a centrifugal effect.

the heavier liquid product molecules in the flow forced by the centrifugal pressure
towards the outside walls of the vortex channel and then directed away to the
high-pressure chamber. The lighter air/vapour molecules remain trapped in the
centre of the vortex channel and are then directed away through the vortex
tube, the vortex valves into the recovery chamber.

The purpose of the vortex valves is regulating the flow at different pressures.
The pressure depends on the amount of air in the flow. From the vortex valves
the particles move into the recovery chamber [10].

The vortex body exists of two valves in parallel:

• The vortex regulating valve [12]

A piston spring loaded valve, which gives a constant headloss between the air
separation channel and the recovery chamber. This valve stays open to keep the
air separation system working at any pressure or flow.

• Low-pressure vortex valve [14]

A piston spring loaded valve, which opens when the pressure is less than 1 bar.

2.5.4 OUTLET VALVE

Once the liquid has had the air/vapour extracted, it enters the high-pressure
chamber located on the down-stream circuit after the vortex. Here a spring
loaded non-return outlet valve [22] performs the dual function of:

• An authorisation valve (opening when the pressure is sufficient),

• A non-return valve which will keep pressure on the measuring system. This is
necessary to avoid start up errors at the next pumping cycle. In the valve a
pressure overload vent limits this pressure.

An aeration valve is placed on the other side of the outlet-channel. This valve is
open on low pressure (up to 0.7 bar) and closes on higher pressure. This means
it is open on high air intakes, which will keep the pressure low and the outlet
valve closed. On lower air intakes it closes which will close the internal leakage
and increases the maximum flow. The PAS is then ready to distribute fuel when
the nozzle is opened.

2.5.5 RECOVERY CHAMBER

In the recovery chamber [10] the following flows are collected back:

- the vapour/ liquid flow from the central canal of the vortex [18]

- the flow through the aeration valve in the outlet channel [24] (only when the
pressure is < 0.7 bar)

Issue B



Document Ref 903647-001 Rev 3 Page 2-7

Component Technical Manual PAS V3 Pump for Fuel Dispensers

  Together these flows, necessary for the functioning of the system, are about 8 l/
min. These flows are brought back to the pump inlet by the recovery float valve
[6].The specially designed recovery float valve maintains the liquid at a constant
level.

2.5.6 VENT TO ATMOSPHERE

A vent [8], located at the highest point on the cover, maintains the recovery
chamber at atmospheric pressure.

The gas that is extracted from the central channel of the vortex is released into
the atmosphere by this vent. According to some local regulations, a pipe or hose
must be connected to this vent.

A non-overflow device [7], made by a floating valve is put in the vent channel.

NOTE:- If this vent (internal thread R 3/8”) is connected to an
atmospheric pressure equalising pipe, the pipe has to have a minimum
internal diameter of 12mm.

2.5.7 DRAINING OF THE PAS

The PAS V3 is provided with a double drain [5] located at the lowest point of
the housing. The pump can easily be drained without spillage. Therefore the
following actions must be carried out:

• open the filter box

• remove the foot valve (to let the fuel go back to the tank underground)

• unscrew the drain [5] and pull it one level down to empty the recovery chamber
[10] in the filter box

If the fuel can not go back to the tank underground (e.g. non-return valve in the
pipeline, ground tank higher than pump), the draining is still possible by unscrewing
the drain screw [5] completely and catch the fuel in a tank.

2.5.8 V-BELT TRANSMISSION

In the new range of dispensers, Quantium T range, the motor is fixed on the
PAS support which can be adjusted in order to get the right tension. A spring
roller (optional) is also available to get the correct tension.

For the Quantium T-range the following V-belts are used:

- For 80 l/min pumps (is with a SPA 95 pulley) the V-belt has Tokheim code
number 900028-004.

- For 130 l/min pumps (is with a SPA 71 pulley) the V-belt has Tokheim code
number 900028-005.

- For all other dispenser models check the code on the old V-belt before ordering,
different V-belts may be used.

Is
su

e 
B



Page 2-8 Document Ref 903647-001 Rev 3

PAS V3 Pump for Fuel Dispensers Component Technical Manual

Issue B

2.5.9 MOTORS

The power that is required is proportional to the flow rate and pressure:

• For the 80 l/min version: 1 kW at 1400 rpm

• For the 130 l/min version: 1.5 kW at 2800 rpm

The motors correspond to European safety regulations:  EExd

The body of the motor must always be earthed.  The motors supplied are D 230
V/50 Hz and Y 400 V/50 Hz; other specifications can be delivered on demand.



Document Ref 903647-001 Rev 3 Page 3-1

Component Technical Manual PAS V3 Pump for Fuel Dispensers

CONTENTS

3 FAILURE DIAGNOSIS............................................................................................... 3-2
3.1 Failure Diagnosis ..................................................................................................3-2
3.2 Flow Charts ..........................................................................................................3-3

3.2.1 No Fuel Flow ....................................................................................... 3-3
3.2.2 Reduced Fuel Flow ..............................................................................3-4
3.2.3 Uneven Fuel Flow................................................................................3-5
3.2.4 Closing of the Overflow Valve ............................................................3-6
3.2.5 Excessive Noise...................................................................................3-7

Is
su

e 
B



PAS V3 Pump for Fuel Dispensers Component Technical Manual

Page 3-2 Document Ref 903647-001 Rev 3

3 FAILURE DIAGNOSIS

SAFETY

1) Take the standard safety measures into account: place safety equipment and signs and switch off
the electric power supply.

2) When the PAS V3 is stopped make sure that the pump is not pressurised due to closing of the vent
float valve. When unscrewing the top vent plug (reference [9] in the schematic diagrams of
operating principles), the pressure can be released by pushing the float down carefully with a pin.

3.1 Failure Diagnosis
1) No fuel flow

2) Reduced fuel flow

3) Uneven (pulsing) fuel flow

4) Closing of the overflow valve

5) Excessive noise

• Prior fault diagnosis/search:

• Check the condition of the belt drives.

• Following any repair action :

Make sure that all the necessary procedures required by Weights & Measures and Safety
are fully applied.

REMARK

Once an O-ring has been removed, it must not be re-used.

Issue B

Open the vent plug

If there is no air coming from the
air-vent when the filterbox cover is
removed, the vent float is closed and
the PAS pressurised.  By pushing a
small screwdriver or pin through the
hole, the pressure can be released.



Document Ref 903647-001 Rev 3 Page 3-3

Component Technical Manual PAS V3 Pump for Fuel Dispensers

3.2 Flow Charts

3.2.1 NO FUEL FLOW

Check power
supply and

condition of belt
drive

YES

NO

Worn out pump
Bypass blocked
open or outlet
valve blocked

NO

YES

External problem
upstream (refer
to section 4.5)

NO

YES
YES

Find air entry
(refer to section  4.7)

Is the pump unit
air tight? (refer to

section  4.4)

NO

YES

YES

Site configuration
headloss is excessive
(refer to section  4.6)

NO

YES

NO

Fill underground
storage tank

NO

NO FUEL FLOW

Is the pump
running? (direction

of rotation)

Is the pump
unusually

noisy? High inlet
headloss > 400
mbar (refer to

section  4.2)

Is the air
separator

working? (refer
to section 4.3)

Is there fuel in
the underground

storage tank?

Is the fuel
supply line air

tight?

Outlet pressure
>1.5 bar? (refer
to section 4.1)

Is
su

e 
B



PAS V3 Pump for Fuel Dispensers Component Technical Manual

Page 3-4 Document Ref 903647-001 Rev 3

3.2.2 REDUCED FUEL FLOW

Replace the beltNO

YES

Worn out pump
Bypass blocked

NO

YES

YES

External problem
upstream (refer
to section 4.5)

Is the pump unit
air tight? (refer to

section  4.4)

YES

NO

NO

NO

YES

Site configuration
headloss excessive
Filter clogged (refer

to section 4.6)

Find air entry
(refer to section  4.7)

REDUCED
FUEL FLOW

Has the drive
belt slackened?

Check
condition of
filters (hose,

PAS)

Adjust the
bypass (refer to

section  4.1)

Outlet pressure
>1.5 bar (refer
to section 4.1)

Is the pump
unusually

noisy?

High inlet
headloss >400
mbar (refer to

section  4.2)

Is the fuel
supply line air

tight?

Issue B



Document Ref 903647-001 Rev 3 Page 3-5

Component Technical Manual PAS V3 Pump for Fuel Dispensers

3.2.3 UNEVEN FUEL FLOW

YES

YES

NO
Find air entry

(refer to section  4.7)

Air  entry in the
Pas itself (refer to

section  4.4)

NO

YES

YES

Malfunctioning
upstream of PAS. Check

electro-valve etc.

NO

NO

Fuel is too  hot
Cavitation mode

UNEVEN (PULSING)
FUEL FLOW

Outlet pressure
>1.5 bar? (refer
to section 4.1)

Is pressure
constant after
outlet valve?

Is the air
separator

working? (refer
to section 4.3)

Is there air
entry on  the
fuel supply

line?

Is
su

e 
B



PAS V3 Pump for Fuel Dispensers Component Technical Manual

Page 3-6 Document Ref 903647-001 Rev 3

3.2.4 CLOSING OF THE OVERFLOW VALVE

YES

NO

YES

Install anti-syphon  valve
or spring on foot-valve
Consu lt Hydraulic Dept.

NO

CLOSING OF THE
OVERFLOW VALVE

Station tank
above pump level
or suction height

<1m

Float mechanism
dysfunctional?

Replace float

Level sensors in
ground tank are

not working  when
tank is filled

Issue B



Document Ref 903647-001 Rev 3 Page 3-7

Component Technical Manual PAS V3 Pump for Fuel Dispensers

3.2.5 EXCESSIVE NOISE

Replace beltNO

YES

NO

YES

YES

Pressure adjustment
(refer to section  4.1)

NO

NO

Check gear pump

YES

Decrease
temperature

Increase fuel level
(refer to section  4.6)

EXCESSIVE
NOISE

Has the belt drive
slackened?

Noise inside
pump?

Check the pump
motor fan

Find noise origin

Outlet pressure
>2.5 bar in bypass

mode (refer to
section  4.1)

Cavitation
noise?

Is
su

e 
B



PAS V3 Pump for Fuel Dispensers Component Technical Manual

Page 3-8 Document Ref 903647-001 Rev 3

This page is intentionally blank

Issue B



Document Ref 903647-001 Rev 3 Page 4-1

Component Technical Manual PAS V3 Pump for Fuel Dispensers

CONTENTS

4 TROUBLESHOOTING ............................................................................................... 4-2
4.1 Outlet Pressure .................................................................................................... 4-2
4.2 Inlet Pressure ....................................................................................................... 4-2
4.3 Air Vent ............................................................................................................... 4-3
4.4 Internal Air Entry in the Pump ............................................................................ 4-3
4.5 External Problems up-stream the PAS ................................................................ 4-4
4.6 Excessive Head Loss .......................................................................................... 4-4
4.7 Air Entry on the Pipework to the Storage Tank .................................................. 4-5

Is
su

e 
B



Page 4-2 Document Ref 903647-001 Rev 3

PAS V3 Pump for Fuel Dispensers Component Technical Manual

4 TROUBLESHOOTING

4.1 Outlet Pressure
The flow of the PAS V3 is regulated with the outlet pressure. To adjust the outlet pressure:

- Unscrew the pressure plug (see reference [20] in the schematic diagram) with dimensions
M10 x 1.0 spanner size 17.

- Connect the pressure gauge via the flexible pipe into the hole of the outlet-cover (See
section 5.3 for specific tools).

- Take the nozzle out of the dispenser and when the pump starts to run (nozzle is still
closed), check the pressure at the pressure gauge. On top of the by-pass cover a  + and -
show in which way the by-pass screw must be turned to increase (+) or decrease (-) the
pressure. When the desired pressure is adjusted, check whether a correct flow is reached.

The pressure value depends on installation characteristics. However when adjusting the
outlet pressure, the following values for the pressure are to be respected:

- For the PAS V3 80 l/min models the normal working pressure in by-pass mode should be
between 2 and 2.5 bar, and should always be > 1,7 bar.

- For the PAS V3 130 l/min models, the pressure should be between 2.5 and 3.5 bar.

For dispensers delivering 9.6 m3/h (two PAS 80 pumps in parallel), the pressure of one
pump has to be 0.2 bar higher than the other one.

Issue B4.2 Inlet Pressure
The inlet pressure can be measured by using a special filter box cover (see section 5.4)
and a pressure gauge (range –1 bar up to 3 bar).

At full flow (2 nozzles of 40 l/min) the inlet pressure measured is the pressure loss caused
by the resistance of the site configuration (height of pump in comparison to the reservoir
and length of pipe work).

Outlet pressure plug

Outlet valve seat

Vortex valve cover

By-pass adjustment



Document Ref 903647-001 Rev 3 Page 4-3

Component Technical Manual PAS V3 Pump for Fuel Dispensers

NOTE

If the vent is difficult to reach:

Try to feel with your hand if a stream of air or vapour is expelled from the vent.

If the inlet pressure is too high, check:

- if the filter is clean

- correct working of the foot valve

- installation up to the reservoir (non-return valve, dirt blocking the flow, tank filter clogged,
and so on).

4.3 Air Vent
Place one end of a tube (inner diameter 12 mm) with a 3/8" BSP thread coupling on the
vent and drop the other end of the tube in a small tank with fuel (same fuel as tank).

Start the pump in by-pass mode by removing the nozzle from its holder and let it run for a
while before opening the nozzle.

- When bubbles appear constantly, it means that there is an air entry in the pump or the
installation before the pump

- If the fuel is sucked into the pump, the recovery float valve is not closing properly

Put the tube in the tank (not too
deep), and check if there are
bubbles

Is
su

e 
B

4.4 Internal Air Entry in the Pump
Below a list of possible causes for air to enter the pump:

1) Filter cover O-ring incorrectly positioned or dilated.

2) O-ring between filter box and PAS body incorrectly positioned or dilated.

3) One of the sealing rings between the connection to ground piping and filter box is defective
or insufficiently tightened.

4) Float assembly blocked in an open position, installed incorrectly or a loose particle is in
between.



Page 4-4 Document Ref 903647-001 Rev 3

PAS V3 Pump for Fuel Dispensers Component Technical Manual

Issue B

4.5 External Problems up-stream the PAS
1) If there is a non-return valve, check its proper operation.

*Defective non-return valve (if mounted according to dispenser model):

Replace the valve.

2) Check the volume meter is not blocked

*If blocked, replace the volume meter.

3) Check condition of the nozzle filter and of the nozzle

*Filter of the nozzle clogged. Clean filter when necessary.

4) Check whether the electronic valve is working

*Electronic valve is blocked. Replace the electronic valve.

4.6 Excessive Head Loss
When the ambient temperature increases, the ability to pump fuel is reduced (formation
of vapour locks): check if the pipe work and manifold are sufficiently insulated (as installed)
from ambient heat sources.

To reduce the temperature build-up the manhole chimneys can be filled with sand and the
manhole covers can be painted white.

If a satisfactory technical solution cannot be found, try to maintain normal operation by
keeping the storage tank filled as much as possible, this will reduce problems coming
from high ambient temperatures.

1) Check the head loss resulting from the specific configuration of each fuel line by comparing
the measured head loss under each dispenser at the point where the same fuel from the
same underground storage tank arrives.

• If these various measured head loss values are comparable:

⇒ Check the expected (theoretical) head loss values are indeed comparable to those
measured.  If not the line may be obstructed by an unknown object.

• If these various measured head loss values are not comparable:

⇒ Check the connection between each PAS and the relevant underground pipe work
(manifold, non-return valve blocked).

2) Check the PAS filter.

3) If the dispenser is the only one delivering this product, check the complete line, noting the
distance between the pump and the storage tank (take care of the way of piping), the
height of the product in the tank, the various accessories (plugs, valves, and so on). Usually
an easy way to solve the problem is to fill the tank before trying to cool down the fuel.



Document Ref 903647-001 Rev 3 Page 4-5

Component Technical Manual PAS V3 Pump for Fuel Dispensers
Is

su
e 

B

4.7 Air Entry on the Pipework to the Storage Tank
Check if there is a leak in the fuel piping from the storage tank to the dispenser.

In the piping systems with more than one pump per suction line, check the non-return
valves on each derivation when present.

If there are no special valves for this purpose, the valves of the filter box take over this
function (they must exist on all dispensers). It is possible that one of these valves is not
closing properly and is allowing air into the pipeline. When the problem can not be found,
it is possible to mount a sight glass underneath the pump filter box to check for leakages
and to define the leakage (contact Tokheim Hydraulic Department).

The wrong foot valve can be detected by delivering about 20 litres with each pump and
check if the delivery is immediately starting when the motor starts and stays constant.

After visual checking the parts of the pipeline (valves, hinges, bent pipes, and so on) get
in touch with specialised departments to make a hydraulic improvement on the fuel piping.



Page 4-6 Document Ref 903647-001 Rev 3

PAS V3 Pump for Fuel Dispensers Component Technical Manual

This page is intentionally blank

Issue B



Document Ref 903647-001 Rev 3 Page 5-1

Component Technical Manual PAS V3 Pump for Fuel Dispensers

CONTENTS

5 SPARE PARTS AND MAINTENANCE TOOLS ....................................................... 5-3
5.1 Frequently Used Spare Parts ............................................................................... 5-3
5.2 Exploded Views and Parts Lists .......................................................................... 5-4

5.2.1 Front View .......................................................................................... 5-4
5.2.2 Back View .......................................................................................... 5-6
5.2.3 Top View .......................................................................................... 5-10

5.3 Maintenance Kits .............................................................................................. 5-12
5.4 References of Specific Tools ............................................................................ 5-15

Is
su

e 
B



Page 5-2 Document Ref 903647-001 Rev 3

PAS V3 Pump for Fuel Dispensers Component Technical Manual

This page is intentionally blank

Issue B



Document Ref 903647-001 Rev 3 Page 5-3

Component Technical Manual PAS V3 Pump for Fuel Dispensers

5 SPARE PARTS AND MAINTENANCE TOOLS

5.1 Frequently Used Spare Parts

Is
su

e 
B

Reference Description

902373 Pump pulley SPA 150

901321-002 Key A6 x 6 x 30 for motor and pump pulleys

900050-027 O-ring Viton Ø 4 x 120 for filter box cover

900050-002 O-ring Viton Ø 4 x 34 for outlet flange of PAS

901614 Paper filter 12 µm Gasoline (according to country specification)

901613 Paper filter 25 µm Diesel (according to country specification)

901612 Cleanable plastic filter 90 µm mesh, all fuels.

900028-004 V-belt A29/13 13A760MC used in Quantium T with 95 mm pulley

900028-005 V-belt A27/13 13A720MC used in Quantium T with 71 mm pulley

* * * * * * * * * With V-belts always: check code on V-belt before ordering



Page 5-4
D

ocum
ent R

ef 903647-001 R
ev 3

PA
S V3 Pum

p for Fuel D
ispensers

C
om

ponent Technical M
anual

5.2 Exploded Views and Parts Lists

5.2.1 FRONT VIEW

Issue B



D
ocum

ent R
ef 903647-001 R

ev 3
Page 5-5

C
om

ponent Technical M
anual

PA
S V3 Pum

p for Fuel D
ispensers

FRONT VIEW PARTS LIST

Issue B

Item No Description Désignation Français Part No Comments
1 Ring Retain Bore D50 Anneau Elast Int D50 900049-002

2 O-ring 105.00x3.50 Joint Torique 105.00x3.50 900050-023

3 Ball Bearing D20xD47x14 Roulement a Billes D20xD47x14 900070-001

4 Screw Torx SHC M6x20 Vis Torx CZX M6x20 900356-001

5 Screw Torx SHC M6x25 Vis Torx CZX M6x25 900356-002

6 Cotter Pin 6x6x40 Clavettes Paralleles 6x6x40 901321-001

7 Cotter Pin 6x6x30 Clavettes Paralleles 6x6x30 901321-002

8 Parallel Pin 6x20mm Goup cyclind C 6x20mm 901348-001

9 Lip Seal 25x35x6 Joint de Levre 25x35x6 901350-001

10 Label PAS V3 Etiquette PAS V3 901662

11 Pulley SPA150 Poulie SPA150 902373

12 Assy main housing Asm cuve 902377

13 Pump flange Flasque de pompe 902378

14 Pinion Pignon 902381

15 Crown Couronne 902382

16 Pump shaft Axe de pompe 902387

17 Vortex/housing seal Joint vortex/cuve 902389

18 Vortex cover Plaque de vortex 902392

19 Pump shaft bearing brush Palier axe de pompe 902397



Page 5-6
D

ocum
ent R

ef 903647-001 R
ev 3

PA
S V3 Pum

p for Fuel D
ispensers

C
om

ponent Technical M
anual

5.2.2 BACK VIEW

Issue B



D
ocum

ent R
ef 903647-001 R

ev 3
Page 5-7

C
om

ponent Technical M
anual

PA
S V3 Pum

p for Fuel D
ispensers

BACK VIEW PARTS LIST

Issue B

 (CONT.)

Item No Description Désignation Français Part No Comments
1 Washer Pl M10 Rondelle Pl M10 900008-014

2 Washer Serr Lock Ext M6 Rondelle a Dents DEC M6 900009-004

3 Nut Hex M6 Ecrou Hex M6 900011-001

4 O-ring 31.00x3.00 Joint Torique 31.00x3.00 900050-017

5 O-ring 6.00x2.30 Joint Torique 6.00x2.30 900050-020

6 O-ring 35.00x3.00 Joint Torique 35.00x3.00 900050-024

7 O-ring 46.00x3.00 Joint Torique 46.00x3.00 900050-026

8 Screw Torx SHC M6x25 Vis Torx CZX M6x25 900356-002

9 Outlet valve seal Siege valve de sortie 900638

10 Outlet insert Boite de sortie 900639

11 Outlet cover Couvercle de sortie 900640

12 Vortex piston Piston de vortex 900642

13 Outlet valve disc Disque valve de sortie 900645

14 Outlet valve washer Rondelle valve de sortie 900646

15 Vortex piston spring Ressort piston de vortex 900649

16 Outlet valve body Corps valve de sortie 901192

17 Aeration valve assy Clapet d'aeration assemblee 901700

18 Vortex valve spring Ressort valve de vortex 901701

19 Vortex valve piston Piston valve de vortex 901702

20 Outlet valve spring Ressort valve de sortie 901703

21 Schrader valve Mecanisme de valve Schrader 901790

22 Bypass valve Clapet de bypass 902368

23 Assy bypass screw Vis de bypass montee 902369



Page 5-8
D

ocum
ent R

ef 903647-001 R
ev 3

PA
S V3 Pum

p for Fuel D
ispensers

C
om

ponent Technical M
anual

Issue B

5.2.2 BACK VIEW (CONT.)



D
ocum

ent R
ef 903647-001 R

ev 3
Page 5-9

C
om

ponent Technical M
anual

PA
S V3 Pum

p for Fuel D
ispensers

BACK VIEW PARTS LIST (CONT.)

Issue B

Item No Description Désignation Français Part No Comments
24 Bypass spring Ressort de bypass 902370

25 Bypass damper Assourdisseur de bypass 902371

26 Bypass cover Couvercle de bypass 902374

27 Drain screw M10x1.00 Bouchon M10x1.00 902375

28 Flat Seal D10x18x1 Joint Plat D10x18x1 902376

29 Vortex valve body Corps valve de vortex 902383

30 Vortex valve tube Tube valve de vortex 902384

31 Vortex valve cover Couvercle valve de vortex 902385

32 Vortex valve cover seal Joint couvercle valve de vortex 902395

33 Drilled screw M6x20 Vis percee M6x20 902399



Page 5-10 Document Ref 903647-001 Rev 3

PAS V3 Pump for Fuel Dispensers Component Technical Manual

5.2.3 TOP VIEW

Issue B



Document Ref 903647-001 Rev 3 Page 5-11

Component Technical Manual PAS V3 Pump for Fuel Dispensers

TOP VIEW PARTS LIST

Is
su

e 
B

Item No Description Désignation Français Part No Comments
1 Washer Serr Lock Ext M8 Rondelle a Dents DEC M8 900009-002

2 Nut Hex M8 Ecrou Hex M8 900011-003

3 Screw HSHC M6x60 Vis CHC M6x60 900017-001

4 O-ring 8.00x2.00 Joint Torique 8.00x2.00 900050-021

5 O-ring 14.00x2.00 Joint Torique 14.00x2.00 900050-022

6 O-ring 82.14x3.53 Joint Torique 82.14x3.53 900050-025

7 O-ring 120.00x4.00 Joint Torique 120.00x4.00 900050-027

8 Screw Torx SHC M6x20 Vis Torx CZX M6x20 900356-001

9 Screw Torx SHC M6x25 Vis Torx CZX M6x25 900356-002

10 Sticker filterbox cover Autocollant couvercle boite de filtre 900636

11 Nut Hex Serpress M6 Ecrou Serpress M6 901295-001

12 Washer Spring Retain Shaft D3Anneau D'Arret pour Axe D3 901313-001

13 Vent Float Nipple Raccord de flotteur d'event 902372

14 Filter - 90 micron Filtre - 90 micron 901612 Standard

Filter - 25 micron Filtre - 25 micron 901613 Option

Filter - 12 micron Filtre - 12 micron 901614 Option

15 Valve housing Corps de valve 901663

16 Needle valve Valve de aiguille 901664

17 Gland Nut Ecrou de joint 901665

18 Cork float Flotteur de liege 901666

19 Foot valve guide Guide clapet 901690

20 Foot valve flat seal Joint de clapet 901691

21 Foot valve head Tete clapet 901692

22 Spring plate Plaque supp equipee 901693

23 Filter box cover Couvercle boite de filtre 901694

24 Stud M6x40 (18-4-18) Goujon M6x40 (18-4-18) 901695

25 Vent Body Plug Bouchon d'event 902006

26 Flat Seal D10x18x1 Joint Plat D10x18x1 902376

27 Housing cover Couvercle de cuve 902379

28 Cover meter support Couvercle liaison mesureurs 902380

29 Recovery valve assy Vanne de recup asm 902386

30 O-ring filterbox support Joint platine BAF 902388

31 Cover seal Jiont couvercle 902390

32 Drain screw Vis de purge 902391

33 Recovery float Flotteur de recuperation 902393

34 Drain screw flat seal Joint plat vis de purge 902394

35 Meter support cover seal Joint liaison mesureurs 902396

36 Filterbox Boite de filtre 902398



Page 5-12 Document Ref 903647-001 Rev 3

PAS V3 Pump for Fuel Dispensers Component Technical Manual

5.3 Maintenance Kits

Repair kit 2 : Gear Parts

Contains a shaft + ball bearing (already
assembled), a retaining ring, lip seal
and O-ring.

Order Number : 902298

Repair kit 1 (optional)  : Roller

Contains a roller with bearing + shaft
(already assembled), spacer, washer,
bolt, spring and a roller support.

Order Number : 902297

Repair kit 3 : Air Vent Parts

Contains a gland nut + valve housing +
needle valve + cork float + spring
washers (already assembled) and a
nipple.

Order Number : 902299

Issue B



Document Ref 903647-001 Rev 3 Page 5-13

Component Technical Manual PAS V3 Pump for Fuel Dispensers

Repair kit 4a : Outlet Insert

Contains an outlet insert + aeration
valve + O-ring + valve seal + O-ring
cover.

Order Number : 902300

Repair kit 4b : Outlet Valve

Contains an outlet valve assembly +
spring + O-ring cover.

Order Number : 902301

Repair kit 5 : Vortex

Contains a valve tube + valves + springs
+ vortex body + O-ring (already
assembled), seal vortex valve front-side
and seal vortex rear-side.

Order Number : 902302

Is
su

e 
B



Page 5-14 Document Ref 903647-001 Rev 3

PAS V3 Pump for Fuel Dispensers Component Technical Manual

Repair kit 6 : By-Pass Valve

Contains a cover, O-ring, pressure nut
+ iron washer (already assembled) and
an O-ring, spring, valve and damper.

Order Number : 902303

Repair kit 7 :  Drain Screw

Contains a drain screw, O-ring + flat
seal (already assembled).

Order Number : 902304

Issue B



Document Ref 903647-001 Rev 3 Page 5-15

Component Technical Manual PAS V3 Pump for Fuel Dispensers

5.4 References of Specific Tools

SR: Tools from local stores.

Is
su

e 
B

902324 Tool for disassembling outlet insert (refer to Page 39 - part nos 17,10,4,9)

9231221014 Filter box cover for pressure measuring (vacuum)

9231221013 Filter box with pressure point before foot valve

9508012519 Flexible extension (male/female) M10 x 1.00 for pressure measurement

SR Manometer (-1 to 3 bar) to measure pressure or vacuum

SR Torx key (shape T30)

902325 Tool for mounting lip-seal (refer to Page 37 - part no 9)

902327 Tool for mounting outlet valve seat (refer to Page 39 - part no 9)

902328 Vortex remover (refer to Page 39 - part nos 30,19,12,18,15,29)

Note : remove from the front of the pump to the back



Page 5-16 Document Ref 903647-001 Rev 3

PAS V3 Pump for Fuel Dispensers Component Technical Manual

This page is intentionally blank

Issue B



Document Ref 903647-001 Rev 3 Page 6-1

Component Technical Manual PAS V3 Pump for Fuel Dispensers

CONTENTS

6 PROBLEM REPORT FORM FOR THE PAS V3 PUMP .................................... 6-2

Is
su

e 
B



Page 6-2 Document Ref 903647-001 Rev 3

PAS V3 Pump for Fuel Dispensers Component Technical Manual

6 PROBLEM REPORT FORM FOR THE PAS V3 PUMP

Issued by: Report date:
Station        nam e: Meter reading 1: l
                      c ity: Meter reading 2: l
               country: Ground piping:
PAS V3 no.: -Length m
Installation date: -Height m
Kind of fuel: -D iam eter m

pipeline

Problem description
1. No fuel flow
a) Is  the pum p running? yes no
b) Is  the pum p unusually noisy?  yes  no

If the answer is  yes, go to point 4.  If the answer is  no:
c) Is  there enough fuel in the underground tank?  yes  no
d) Is  air com ing out of the air vent?  yes  no
e) W hat is  the outlet pressure (m easured at the outlet plug)? m bar

2. Reduced fuel flow
a) W hat is  the outlet pressure when running in bypass m ode? bar
b) W hat is  the inlet pressure at the filter box? m bar
c) Are the following parts  in good order: is  the filter box c lean, v-belt?  yes  no

3. Pulsating flow
a) Is  the outlet pressure constant?  yes  no
b) Is  air com ing out of the air vent?  yes  no

4. Excess ive noise
a) Is  the noise com ing from  ins ide the pum p?  yes  no
b) W hat is  the outlet pressure in bypass m ode? bar
c) W hat is  the inlet pressure at the filter box? m bar
d) Is  it cavitation noise?  yes  no

Cause of the Problem

Actions done to solve the problem (list part numbers of new parts used)

Further actions required

Remarks about special environmental or other circumstances

noMore pum ps on oneDispenser type: yes

Issue B



Document Ref 903647-001 Rev 3

Component Technical Manual PAS V3 Pump for Fuel Dispensers
Is

su
e 

B

This page is intentionally blank



Spare Parts
Koppens Automatic (Bladel)
Industrieweg 5
5531 AD Bladel
The Netherlands

 +31 497 389 555
  +31 497 381 950

Manufacturing
Unit 3, Baker Road
West Pitkerro Industrial Estate
Dundee DD5 3RT
Scotland

 +44 (0)1382 598000
  +44 (0)1382 598001

Italy
Tokheim Sofitam Italia S.r.l.
Quattordio Km 10800
S.P. 26
14030 Scurzolengo (AT)

 +39 0141 2038200
  +39 0141 2038222
 info@asti.tokheim.com

United Kingdom
Unit 1, Baker Road
West Pitkerro Industrial Estate
Dundee DD5 3RT
Scotland

 +44 (0)1382 483500
  +44 (0)1382 731835
 service@tokheimuk.com

Manufacturing
Route de Soliers
14540 Grentheville
BP268, Caen Cedex 14013
France

 +33 231 15 15 15
  +33 231 23 15 06

SALES & SERVICE DIVISIONS
EUROPE
Austria
Tokheim Austria GMBH
Eitzenberger Strasse 4-6
A-2544 Leobersdorf

 +43 (0) 2256 606 0
  +43 (0) 2256 606 170
 office@leobersdorf.tokheim.com

Czech Republic
Tokheim
Pernerova 48
CZ-18602 Prague 8

 +420 224 890 312
  +420 222 327 267
 pribrsky@prague.tokheim.com

Denmark & Scandinavia
Tokheim Scandinavia A/S
Hejrevang 10
3450 Allerød

 +45 48 13 45 45
  +45 48 17 45 96
 service@alleroed.tokheim.com

France - Le Plessis
Tokheim Services France
9 Avenue Galilée
92350 Le Plessis-Robinson

 +33 (0)1 41 36 13 00
  +33 (0)1 41 36 13 70
 info@tokheim-services.com

Tokheim Europe & Africa Headquarters
ZAC Paris Nord 2
B.P. 40027 Tremblay-en-France
95912 Roissy C.D.G. Cedex

 +33 (0)1 49 90 77 00
  +33 (0)1 49 90 77 77
 marcom@tremblay.tokheim.com

Germany
Tokheim GmbH
Lothstrasse 1a
D-80335 München

 +49 (0)89 189 53 0
  +49 (0)89 189 53 148
 service@muenchen.tokheim.com

Portugal
G.N.C.
Parque de Ciencia e Tecnologia
Edificio Tecnologia 1, N° 27
2780-920 Oeiras
Lisboa

 +351 214 220 420
  +351 214 214 226

Russia & CIS Countries
Tokheim Representative Office
Room 313, Hotel “Ukraina”
Kutuzovski Prospekt, 2/1
Stroyenie 1
Moscow 121249

  +7 095 933 69 35
  +7 095 933 69 34
 kolobov@dol.ru

Spain
Tokheim Koppens Iberica S.A.
Calle La Granja, 41
Poligono Industrial de Alcobendas
28108 Alcobendas (Madrid)

 +34  91 2030465
  +34  91 6614130
 urra@madrid.tokheim.com

Switzerland
Tokheim Switzerland AG/SA/LTD
Route du Crochet 7
Case Postale 50
1762 Givisiez

 +41 (0)26 460 51 11
  +41 (0)26 460 51 12
 user@givisiez.tokheim.com

Export Division
ZAC Paris Nord 2
B.P. 40027 Tremblay-en-France
95912 Roissy C.D.G. Cedex
France

 +33 (0)1 49 90 77 56
  +33 (0)1 49 90 77 93
 marcom@tremblay.tokheim.com

Cameroon
Socatam S.A.
BP 3941
Douala

 +237 40 57 86
  +237 40 57 88
 socatam.douala@camnet.cm

Morocco
Matam S.A
209 Bld Moulay Ismail
Route de Rabat
Casablanca

 +212 22 40 40 24
  +212 22 40 40 21
 matam@wanadoo.net.ma

Senegal
Cosetam S.A.
Quartier de Bel Air
Route des Hydrocarbures
BP 1237
Dakar

 +221 832 23 71
  +221 832 68 34
 cosetam@ns.arc.sn

South Africa
Tokheim South Africa Ltd
Stand 110, Precision Road
Kya Sand
Randburg

 +27 11 462 2105
  +27 11 462 1942
 tokheimsales@tokheim.co.za

Netherlands
Tokheim Netherlands B.V.
Touwslagerstraat 17
Postbus 4186
2980 GD Ridderkerk

 +31(0) 180 48 15 00
  +31(0) 180 48 15 55
  sales@ridderkerk.tokheim.com

Slovak Republic
Tokheim
Mlynske Nivy 70
SK-82015 Bratislava

 +421 2 58 27 02 15
  +421 2 52 41 41 23
 schroeder@berlin.tokheim.com

Belgium
Tokheim
Everdongenlaan 31
2300 Turnhout

 +32 (0) 14 44 85 00
  +32 (0) 14 44 85 55
 sales@turnhout.tokheim.com

Poland
Pol-Germann Tokheim Sp. z.o.o.
ul. Narwicka 1
PL-80-557 Gdansk

 +48 58 343 21 71
  +48 58 343 22 15
 pol-germann@tokheim.pl

MIDDLE EAST, SOUTH & CENTRAL
AMERICA

AFRICA

ASIA

Tunisia
Cottam SARL
116 Ave de l’Union du Maghreb Arabe
BP 117
La Soukra
2036 Tunis

 +216 175 95 50
  +216 175 95 30
 cottam@cottam.com.tn

Tokheim
PO Box 16869
JAFZ
Dubai, UAE

 +971 4 881 3305
  +971 4 881 4463
 tokheim@emirates.net.ae

F

RFC

MA

 NL

 PL

P

RUS SN

ZA

E

SK

GB  I

 D

F

F

 DK

CZ

 B

 A

 NL GB  F

As Tokheim regularly improves its prod-
ucts to ever better respond to evolving
market and regulatory requirements, it
reserves the right to change any of the
specifications of these products, and
this without prior notice.

For technical manual enquiries,
contact: author@dundee.tokheim.com

                          Back Cover   Issue F

TN

AE

CH


	Front Cover
	Revision Record
	Main Contents
	1 GENERAL Contents
	1.1 Definitions 
	1.2 Configurations 

	2 OPERATING DESCRIPTION Contents 
	2.1 Technical Characteristics 
	2.2 Alignment of the Pump 
	2.3 Schematic Diagram of Operating Principles 
	2.4 Schematic Diagram References 
	2.5 Operating Description 
	2.5.1 Pumping, Filtration & By-Pass 
	2.5.2 Above Ground Tank Applications
	2.5.3 Air Separation 
	2.5.4 Outlet Valve 
	2.5.5 Recovery Chamber 
	2.5.6 Vent to Atmosphere 
	2.5.7 Draining of the PAS 
	2.5.8 V-belt Transmission 
	2.5.9 Motors 


	3 FAILURE DIAGNOSIS Contents
	3 Failure Diagnosis Safety
	3.1  Failure Diagnosis 
	3.2 Flow Charts 
	3.2.1 No Fuel Flow 
	3.2.2 Reduced Fuel Flow 
	3.2.3 Uneven Fuel Flow 
	3.2.4 Closing of the Overflow Valve 
	3.2.5 Excessive Noise 



	4 TROUBLESHOOTING Contents
	4.1 Outlet Pressure 
	4.2 Inlet Pressure 
	4.3 Air Vent 
	4.4 Internal Air Entry in the Pump 
	4.5 External Problems up-stream the PAS 
	4.6 Excessive Head Loss 
	4.7 Air Entry on the Pipework to the Storage Tank 

	5 SPARE PARTS AND MAINTENANCE TOOLS Contents
	5.1 Frequently Used Spare Parts 
	5.2 Exploded Views and Parts Lists 
	5.2.1 Front View 
	Parts List

	5.2.2 Back View 
	Parts List (Page 1)
	Parts List (Page 2)

	5.2.3 Top View 
	Parts List


	5.3  Maintenance Kits 
	5.4 References of Specific Tools 

	6 PROBLEM REPORT FORM 
	Problem Report form for the PAS V3 pump 



	Back Cover

